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There, both are not grasping it — 379190 soen RYT AN

OVERVIEW

The & m3 explains that the 31327 who maintain 7°R77 %% 17201 XX in the
cases of '7797 nX MW Mw and *Mmna 779 79nn do not contradict our 7w,
The difference is that in our mwn both litigants are grasping the n°ov
(therefore we cannot rule 71"¥i7, since there is no [real] XX or p°Inn),
however in the cases where the 1127 rule 7"¥17, both parties are not grasping
the contested item, but rather only one is grasping it. m201n will explain why
in the case of 71mn2a 779 P77 it is considered as if one is grasping it.

mooIn first explains that the expression of 171170 *05n &27 does not mean that neither of
the two parties are in possession,3 but rather that -
— 1NN ON %

Only one is [considered to be] in possession and the other is a 12m2 X3,

mooIn anticipates a difficulty:
— PNRIN DY 195201 NIXININ 1929Y 1NY ION DN NTIIYA IPONT ) Y N

And even though the 3139 maintain the ruling of 7'"'y»7, even in a case

where the calf is presently in a swamp (in which case no one is in possession of
the contested object [the calf]), so how can the Xn3 say that the 7127 maintain 71"v»77 only

" The case there is that an ox gored a [pregnant] cow and a dead fetus was found near the cow. We are not
certain whether the cow aborted the fetus prior to the goring (thereby exempting the ox’s owner from
paying for the fetus), or whether the fetus was aborted due to the ox’s goring (making the owner liable for
the fetus). 01910 rules 171 (the ox’s owner must pay for half the damage to the fetus), while the 7137 rule
1"vnn, thus exempting the ox’s owner from paying (unless there is proof that the ox caused the abortion).

* The case there is where the respective owners of a [pregnant] cow and a donkey agreed to swap their
animals. This was accomplished through the 13p of 1°5°%n, the original owner of the cow made a 72°wn in
the 2, thus acquiring the 7n for himself and transferring the 779 to the original 7an %va. The 779 was
not present during this transaction. When the 779 was retrieved it has already given birth to a calf. We are
not certain whether the calf was born before the 73°wn (transaction) took place (in which case it belongs to
the original 77977 %¥2) or if gave birth after the 1mnn n>*wn (and then it would belong to the original ¥a
). The ruling according to 010 is 121211 (they sell the calf and divide the proceeds), while the 1121
maintain 7"v27. In the event where the calf was initially found in the domain of either of the owners then
that owner gets to keep it, since he is presently the prmn. However if the calf was found in a neutral
property then according to the 1321 the original 71977 2¥2 is considered the prmn, since he is the Xap X7n; the
original owner of the 7119 and the fetus, while the 277 %v2 is the ®°xn.

? The fact that neither is in possession is no reason why we should rule 7"y»7; on the contrary if neither is
in possession, then who is the X°X% and who is the prmn.

* This is readily understood in the case of maw MW, where the 7197 %¥2 wants to be 111 X°X from the va
w7 for the fetus. The 2w Hv2 is the prmn (in the money) and the 7797 Y32 is the 7RI Y91 1720 XN,

> See footnote # 2.
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when one is in possession! Here we find a case where no one is in possession and
nevertheless the 0°»21 maintain 7"v17, and they do not rule 7312w2 177 (as in our 7Iwn).

mooIn replies:
— 6N}3P 999 NPIN HNRNN VN TANN 29919 DIPN YN

Nevertheless even in the case of 2ax2 N7 the one who originally owned
the 779 is considered in possession of the calf, on account of the
presumptive ownership that is assigned to the original owner.

mooIn offers an alternate solution:
5:NIM 911999 N1 BNN TD9IT 1IN

And some text read (not °05n X2 177°°170 ans, but rather); there (in the cases

where the 1127 rule 7"vn7), it belongs to one of them, therefore we do not say
Y171 but rather 7"y,

SUMMARY

The 7127 maintain that we rule 73"¥»7 even when there 1s no actual 0°2n, but
there is a Xnp X npin, or alternately where niaRk N1 7913° 721917 1R (and
there is a p'"n).

THINKING IT OVER
Is there a practical difference between the two explanations of m»o1n?’

% The original 7797 9¥2 owned the cow and the fetus (turned calf). The 9w %¥2 is attempting to take
possession away from the original owner. The 1127 maintain that the original ownership is tantamount to
actually being in possession of the calf, and therefore the 2ani 22 is a 177207 XX,

7 The 0737 n°X is perhaps not satisfied with 19910 explanation that a Xap X% npii is considered o°on, for we
find that ©°5n is stronger than p"n npin (see footnote # 2). See (NNXA YvVP2) 2P MK 7"210.

8 This answer (seemingly) maintains, that the reason the 1327 do not rule %1 (in those two cases) is
because it is AR NI 7219° AP2NN PR [as opposed to how it is in our 7awn where NnX N1A2 7913° YN (see
7?1211 7"7 8,2 '0I1n)]. The ox either caused the abortion of the fetus or not; the calf was either born before
the transaction or after. It cannot belong to both litigants. Therefore we cannot make him pay for half the
fetus or divide the calf, since someone is certainly being cheated.

? See (‘MR Yupa) T MR 292,
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